



Nome: _____

Data: _____ Punteggio: _____

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{6} - \left(\frac{2}{5} + \frac{3}{2}\right)^2 =$$

$$\left(\frac{3}{4} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{6} - \left(\frac{3}{2} + \frac{1}{4}\right)^2 =$$

$$\left(\frac{2}{3} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{3}{5} + \frac{2}{3}\right)^2 =$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{2}\right) \times \frac{3}{5} + \left(\frac{2}{5} - \frac{2}{3}\right)^2 =$$

$$\left(3 - \frac{1}{2}\right)^2 - \frac{1}{3} - \frac{2}{3} \times 2^2 =$$

$$\left(\frac{1}{4} + \frac{1}{3}\right)^2 + \frac{3}{2}\left(\frac{1}{5} - \frac{3}{5}\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{3}\right) \times \frac{1}{3} - \left(\frac{1}{3} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{3}{5} + \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} - \frac{1}{5}\right)^2 - \frac{1}{6}\left(\frac{1}{6} - \frac{1}{2}\right) =$$

$$\left(\frac{1}{3} + \frac{1}{2}\right)^2 - \frac{1}{4}\left(\frac{1}{5} + \frac{1}{2}\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{6} - \left(\frac{2}{5} + \frac{3}{2}\right)^2 = \left(-\frac{697}{200}\right) = \left(-3\frac{97}{200}\right)$$

$$\left(\frac{3}{4} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{6} - \left(\frac{3}{2} + \frac{1}{4}\right)^2 = \left(-\frac{1277}{432}\right) = \left(-2\frac{413}{432}\right)$$

$$\left(\frac{2}{3} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{3}{5} + \frac{2}{3}\right)^2 = \left(-\frac{2063}{1800}\right) = \left(-1\frac{263}{1800}\right)$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{2}\right) \times \frac{3}{5} + \left(\frac{2}{5} - \frac{2}{3}\right)^2 = \frac{2551}{3600}$$

$$\left(3 - \frac{1}{2}\right)^2 - \frac{1}{3} - \frac{2}{3} \times 2^2 = \frac{13}{4} = 3\frac{1}{4}$$

$$\left(\frac{1}{4} + \frac{1}{3}\right)^2 + \frac{3}{2}\left(\frac{1}{5} - \frac{3}{5}\right) = \left(-\frac{187}{720}\right)$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{3}\right) \times \frac{1}{3} - \left(\frac{1}{3} + \frac{1}{2}\right)^2 = \left(-\frac{5}{6}\right)$$

$$\left(\frac{3}{5} + \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) = \frac{25}{24} = 1\frac{1}{24}$$

$$\left(\frac{1}{2} - \frac{1}{5}\right)^2 - \frac{1}{6}\left(\frac{1}{6} - \frac{1}{2}\right) = \frac{131}{900}$$

$$\left(\frac{1}{3} + \frac{1}{2}\right)^2 - \frac{1}{4}\left(\frac{1}{5} + \frac{1}{2}\right) = \frac{187}{360}$$